
For Baldor Sales and Support, Please Contact: Walker EMD • http://www.walkeremd.com • Toll-Free: (800) 876-4444 • Phone: (203) 426-7700 • Fax: (203) 426-7800

 
Product Information Packet 

FLT8500 
BLOWER FILTER

Copyright © All product information within this document is subject to Baldor Electric Company copyright © protection, unless otherwise noted.



For Baldor Sales and Support, Please Contact: Walker EMD • http://www.walkeremd.com • Toll-Free: (800) 876-4444 • Phone: (203) 426-7700 • Fax: (203) 426-7800

Page 2 of 2                                

                                                                  Product Information Packet: FLT8500 - BLOWER FILTER

Parts List
Part Number Description Quantity
150688-000 THREADED ROD 3/8-16 STEEL 0.854 FT
XY3816A12 3/8-16 FINISHED NUT 2.000 EA
HW1001A38 LOCKWASHER 3/8, ZINC PLT .688 OD, .382 I 1.000 EA
10767 BLW FILTER TOP PLATE,LM8 18 GA STEEL 1.000 EA
10231 BLW FILTER MTG PLATE LM8 16GA STEEL 1.000 EA
XY3816A03 WING NUT, 3/8-16, R.H.   THREAD,STEEL,ZI 1.000 EA
10751-5 FILTER,LM8,AIRSAN #2906 CAT.#C50 1.000 EA
YY8072 PLASTIC FILM, GRAY 72" X 3300 FT P8072 D 0.010 RL


